6.3. A ball-screw linear actuator is shown in Fig. 6.26. The actuator uses a dc electric motor, with
an electromotive coupling constant K, armature resistance R, and inductance L, and dniven by a
voltage source V,(r). The motor drives a threaded shaft with N threads/cm on which the ball-nut
moves linearly. The mechanical load is a mass m which slides on a surface with viscous damping

coefficient B.

Motor |_> v Ball nut
. J
1y / [

 EE— Threaded shaft
V, {”"’ L A A
O
- m ’DumpingB
uuuuunuu//
Figure 626: A ball-screw drive mechanism
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